
Limited Dependent Variables 2022 - 02 - 15

Regression w/ Y that can only take
on certain values

Linear Regression Y = a. +BX + u
T

✗

fastest mile time

•
NONLINEAR MODELS!

&

,

°
,

1849 today Years
how may ? Predict Y

↳ Count Data : Y c- { 0,1 , 2 , . . ]
Poisson Regression

# patents, # kids . .
.

Binary Outcomes : Y c- { 0,1}For:*:*
- - - -

-

-

,
employed / unemployed ; win/ lose 1i I\

Multinomial : Y c- { 1,2
,
3
,

.
- .

,J} '

\ random utility 1

models 2¥
1-
-
-
- r - - - - - -

-

-

!

I structural economic model of choice!
categories



Selection : 1 "

economic model of choice
"

=

Heckman 2 Use probit as an ingredient
selection
model

✓
GRE score

sample selection/ MEET

Y = ✗ +p ✗ + U what if we only observe

1
Y for a subset of

score on econometrics exam people?

☒ Mamo Verbeek Modern Econometrics *

A
Poisson Regression Y c- { 0,1 , 2,3 , . . .

}

? Mi

Yi / Ii ~ Poisson (expEXIB@EEQb2.r . .}

Tee-0

When/ why would this work ?

① Old - fashioned : THE MODEL IS TRUE !
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Are there discrete Y tests for which we could

develop regression model?
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categorical

→ Binomial Regression (related to logit]
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